Paddy on the Turnpike
Arr. Scott Vestal
Key of G (G tuning)

F G
5—7 0 7 0—0 0 0 0 0 0 0—0-
: 55 5 6 6 5 0 6 6
4 6—— 6 0—0 5—— 5
0-274 4—-7
(IJ——O—G ?——0—0 )
3
D G F
0 0 7 0 0—0—3—7—3—0
0 22345 5—+5—5—10-10—5 5 5—+—0
0—+—o0 0-2-0 6 5—4—0-2—
7 7——2—/0-2 34
0—0—-0 0—0 0 0—0
I I R ] | L
D G
0 (3 i 6 0 0 0—H
0 5 C C 5 0 0 0—2—0 2=4—
4 7 7 7 2 0—2
F G
0 0 0 0 0+
0 1 0 6
—322—0—0 0—+—0 =2 0=2——2- 5—1
7—|/0-21+—3 3 - 3-0=3
L
12 G
3 5 3
0 0-2-0—2-3+4—+2-3-4—1-2-3-4— —0-1- —0—1-2— 2—+-0-1-2—-2-31
15
3—5 :
3 3—5 5—3—2—5—3—f{—3—2—1
—4—3—2—0 2 0—3—4—0
—0—5




